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—3.,, = 347.85
alall slas¥l aatl] Aslae®
e =AFe = Ve-1) + (1 — D14
=1=>11 =0
=2=12 = Y2 =1
—r, = 176 — 152
=>r, = 24
=3=13 = 0.3(§; — ¥,) + 0.7n,
7, = 0.3(172.8 — 152) + 0.7(24)

=73 = 23.04

=127y, = 0.3(F15 — F11) + 0.7114

=17, = 0.3(347.85 — 335.49) + 0.7(17.32)

:>T12 - 1 583
J-«-"M t Ve S’t l: .
il 1 152 0 0

4

‘.5)5.55 2 176 152 24




Aollaiiay! §plall ianyl ! 5 poleel

Vr+L = Y7 + €1
£{=1,2,3,...,L

£t=1:T+1=12+1=13

=V13 = Y12 + 112

woyle 3 160 172.8 23.04
d.yéi 4 192 195.07 22.81
é‘.& 5 220 218.31 22.94
Ole 6 272 247.39 24.78
Zt..d.lj:- 7 256 268.94 23.81
‘;@i 8 280 290.20 23.05
Seidw 9 300 310.60 22.25
J.j,.?Si 10 280 322.28 19.08
Sedgd 11 312 335.49 17.32
e d 12 328 347.85 15.83
T+1 13 363.68
T+2 14 379.51
T+3 15 395.34
542l Aglac




agllaiiay! Ball aylyll 5ol

3?13 = 363.68
£=2:T+2=12+2 =14

=14 = V12 + €112

=Yy14 = 379.51
£=3T+3=>12+3 =15

=J15 = V12 + €112
=y, = 347.85 + (3)15.83

:>_")\’13 = 395.34



